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Wide Periodic Table

S'(Il’l‘(’)c)k Showing n-+l filling order left to right
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Spin Spin (l=1)
=0 =0
o +Y Spin _Y, Spin
N A —
| — ~ ~
I m=-1 m=0 m=+1 m=-1 m=0 m,=+1
| d-block '
I +%2 Spin —% Spin I
A — e
3 Vs Y N - 4 >
I m;=-2 m;=-1 m=0 m;=+1 m=+2 m;=-2 m;=-1 m=0 m=+1 m=+2 I
! I I
f-block

4 (I=3) < 8 > | 8 >
| +% Spin —% Spin | |
| I I | |
5 - —~r —~ - 6 > | - 6 >
I m,=-3 m;=-2 m=-1 m=0 m=+1 m=+2 m=+t3 m;=-3 m=-2 m=-1 m=0 m=+1 m=+2 m,=+3 I I
I ! I I
6 - 7 > | = 7 > | - 7 >
I I I I
I I I I
7 - 8 > | - o > | - 8 >
I I I




